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3955. y' +2xy = xe * Oteet: y=¢ (C+ X?)
3958. y'+y =cosX Ortser: y=Ce™* +%(cosx+sin X)
3960. 2ydx + (y? —6x)dy =0 Ortser: y? —2x=Cy?
3961. y'= ! 5 Orser: X:Cezy+ly2+1y+1
2X—Y 2 2 4
X _aa
3966. xy'+y—e*=0 y(a)=b Otser: y = e +ab-e
X
Ypasuenue bepuynnu
4038.y' + 2xy = 2x3y° OrtBer: iZ:CeZX2 + X2 +%, y=0
y
4039. y'+ Y +y?=0 OrtBer: y = 1
X+1 @A+ x)(C+In|1l+x])
—NX
4040. y"*(ay'+y)=x Otser: ny" =Ce 2 +nx-—a
4079. y' = x\[y + 2xy1 Orger: 3,/y =CYx? -1+ x? -1
X —
JlonoIHUTEILHO:

3960. t(L+t%)dx = (x +xt? ~t%)dt x(1) :—g

4001. (L+e*)yy'=e¥ y(0)=0
2

4041. xdx = (X — y3)dy
y

Homa: bepman I'.H. COopHuEK 3a/1a4 MO KypCy MaTeMaTHueCKOro aHalln3a
3957, 3959, 3962, 4000, 4043, 4046, 4076, 4077



